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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) H«$_ g§»`m 1 go 16 VH$ Ho$ àíZ ~hþ{dH$ënr` àíZ h¢, Omo àË`oH$ 1 A§H$ H$m h¡ & AmnH$mo 
ghr dmbm {dH$ën AnZr CÎma-nwpñVH$m _| {bIZm h¡ &  

(iii) AÝ` àíZm| Ho$ {bE {Z`V A§H$ àË`oH$ àíZ Ho$ gå_wI Xem©E JE h¢ & 

General Instructions : 

(i) All questions are compulsory. 

(ii) Questions from serial number 1 to 16 are Multiple Choice Questions 

carrying one mark each. You have to write the correct option in your 

answer-book. 

(iii) Marks allotted to other questions are indicated against each of them. 

1. EH$ {gZo_m hm°b H$s ~¡R>Zo H$s j_Vm ~‹T>mZo na < 7,00,000 H$m ì`` h¡ 1 

(H$) ny±OrJV ì`` 
(I) Am`JV ì`` 
(J) AñWJV Am`JV ì`` 
(K) ny±OrJV àm{á 

< 7,00,000 spent on increasing the seating capacity of a cinema hall is 

(a) Capital expenditure 

(b) Revenue expenditure 

(c) Deferred  revenue expenditure 

(d) Capital receipt 

2. _mb H$m {dH«$` ________ h¡ & 1 

(H$) Am`JV àm{á 
(I) ny±OrJV àm{á 
(J) AñWJV Am`JV ì`` 
(K) Am`JV ì`` 

             AWdm 
 < 6,000 nwñVH$ _yë` H$s ^y{_ H$m < 10,00,000 _| {dH«$` __________ h¡ & 1 

(H$) ny±OrJV àm{á 
(I) ny±OrJV ì`` 
(J) Am`JV àm{á 
(K) Am`JV ì`` 
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Sale of goods is a 

(a) Revenue receipt 

(b) Capital receipt 

(c) Deferred revenue expenditure 

(d) Revenue expenditure 

                     OR 

Sale of land < 10,00,000, book value < 6,000 is 

(a) Capital receipt 

(b) Capital expenditure 

(c) Revenue receipt 

(d) Revenue expenditure 

3. _yë`õmg bJmZo H$s grYr aoIm {d{Y Ho$ AÝVJ©V àË`oH$ df© _yë`õmg H$s am{e  1 

(H$) ~‹T>Vr h¡ 
(I) EH$ O¡gr ahVr h¡ 
(J) KQ>Vr h¡ 
(K) ~‹T> gH$Vr h¡ `m KQ> gH$Vr h¡ 

In case of straight line method of charging depreciation, the amount of 

depreciation every year  

(a) increases 

(b) remains same 

(c) decreases 

(d) may increase or decrease 

4. KQ>Vr _yë` {d{Y Ho$ AÝVJ©V _yë`õmg bJm`m OmVm h¡ 1 

(H$) n[agån{Îm H$s bmJV na 
(I) n[agån{Îm H$s nwñVH$ _yë` na 
(J) n[agån{Îm H$s bmJV KQ>m ñWmnZ ì`` na 
(K) n[agån{Îm H$s bmJV O_m ñWmnZ ì`` na 

Under diminishing value method, depreciation is charged on 

(a) cost of the asset 

(b) book value of the asset 

(c) cost of the asset less installation charges 

(d) cost of the asset plus installation charges 
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5. {ZåZ{b{IV _| go H$m¡Z-gr grYr aoIm {d{Y go _yë`õmg bJmZo H$s EH$ H$_r h¡ ?  1 

(H$) `h ~hþV gab h¡ & 
(I) n[agån{Îm H$m _yë`õmg BgHo$ H$~m‹S> ({ZñVmaU) _yë` VH$ {H$`m Om gH$Vm h¡ & 
(J) `h n[agån{Îm Ho$ Cn`moJr OrdZ _| BgHo$ ~am~a Cn`moJ H$s AdYmaUm na AmYm[aV 

h¡ & 
(K) àË`oH$ df© _yë`õmg H$s EH$ O¡gr am{e bJmB© OmVr h¡ & 
Which of the following is a limitation of the straight line method of 
charging depreciation ? 
(a) It is very simple. 
(b) Asset can be depreciated up to scrap value. 
(c) It is based on the assumption of equal usage of the asset over its 

entire useful life. 
(d) Every year same amount  is charged as depreciation. 

6. n[agån{Îm na bJmE JE _yë`õmg H$mo 1 

(H$) ì`mnma ImVo _| S>o{~Q> {H$`m OmVm h¡ & 
(I) bm^-hm{Z ImVo _| S>o{~Q> {H$`m OmVm h¡ & 
(J) ny±Or ImVo _| S>o{~Q> {H$`m OmVm h¡ & 
(K) n[agån{Îm ImVo _| S>o{~Q> {H$`m OmVm h¡ & 
              AWdm 

 EH$ n[agån{Îm na _yë`õmg bJmVo g_` 1 

(H$) ñWmnZ ì`` VWm H$~m‹S> ({ZñVmaU) _yë` H$mo BgH$s bmJV _| Omo‹S>m OmVm h¡ & 
(I) ñWmnZ ì`` VWm H$~m‹S> ({ZñVmaU) _yë` H$mo BgH$s bmJV _| go KQ>m`m OmVm h¡ & 
(J) ñWmnZ ì`` H$mo Omo‹S>m VWm H$~m‹S> ({ZñVmaU) _yë` H$mo BgH$s bmJV _| go KQ>m`m 

OmVm h¡ & 
(K) ñWmnZ ì`` H$mo KQ>m`m VWm H$~m‹S> ({ZñVmaU) _yë` H$mo BgH$s bmJV _| Omo‹S>m 

OmVm h¡ & 
Depreciation charged on an asset is 

(a) debited to Trading Account. 

(b) debited to Profit and Loss Account. 

(c) debited to Capital Account. 

(d) debited to Asset Account. 

                    OR 

For charging depreciation on an asset 

(a) installation charges and scrap value are added to its cost. 

(b) installation charges and scrap value are deducted from its cost. 

(c) installation charges are added and scrap value is deducted from 
the cost. 

(d) installation charges are deducted and scrap value is added to the 
cost. 
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7. ~¢H$ g_mYmZ {ddaU __________ Ho$ Ûmam V¡`ma {H$`m OmVm h¡ & 1 

(H$) ì`dgm`r 
(I) ~¢oH$ 
(J) gaH$ma 
(K) Am`H$a A{YH$mar 
A bank reconciliation statement is prepared by the 

(a) businessman  

(b) bank 

(c) government 

(d) income tax officer  

8. ~¢H$ g_mYmZ {ddaU V¡`ma {H$`m OmVm h¡ nmg~wH$ eof H$m {_bmZ ___________ H$aHo$ &  1 

(H$) amoH$‹S> nwñVH$ eof Ho$ gmW 
(I) {dH«$` nwñVH$ eof Ho$ gmW 
(J) H«$` nwñVH$ eof Ho$ gmW 
(K) Cn`w©º$ g^r Ho$ gmW 
Bank Reconciliation Statement is prepared by comparing passbook 
balance with 
(a) Cash book balance 
(b) Sales book balance 
(c) Purchases book balance 
(d) All of the above 

9. {d{Z_`-nÌ _| ^wJVmZ hoVw __________ hmoVm h¡ & 1 

(H$) dMZ 
(I) AmXoe 
(J) Z AmXoe Z hr dMZ 
(K) AmXoe VWm dMZ XmoZm| 
A bill of exchange contains ___________ to pay. 
(a) a promise 
(b) an order 
(c) Neither an order nor a promise 
(d) Both an order and a promise 

10. {d{Z_`-nÌ __________ Ho$ Ûmam ~Zm`m OmVm h¡ & 1 

(H$) XoZXma 
(I) boZXma 
(J) XoZXma d boZXma XmoZm| 
(K) Z XoZXma Z hr boZXma 
A bill of exchange is drawn by a 
(a) debtor 
(b) creditor 
(c) Both a debtor and a creditor 
(d) Neither a debtor nor a creditor 
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11. {ZåZ{b{IV _| go {d{Z_`-nÌ _| H$m¡Z EH$ hr nj hmo gH$Vo h¢ ? 1 

(H$) {bIZo dmbm VWm {OgHo$ D$na {bIm J`m 
(I) àmáH$Vm© VWm {OgHo$ D$na {bIm J`m  
(J) àmáH$Vm© VWm ñdrH$maH$Vm© 
(K)  {bIZo dmbm VWm àmáH$Vm©  
          AWdm 

 {d{Z_`-nÌ {bIm OmVm h¡  1 

(H$) Ho«$Vm Ûmam {dH«o$Vm na  
(I) Ho«$Vm Ûmam ñdrH$maH$Vm© na 
(J) {dHo«$Vm Ûmam H«o$Vm na 
(K) {dHo«$Vm Ûmam ñdrH$maH$Vm© na 
Who among the following can be the same party in a bill of exchange ? 

(a) Drawer and drawee  

(b) Payee and drawee 

(c) Payee and acceptor 

(d) Drawer and payee 

               OR 

A bill of exchange is drawn by 

(a) buyer upon the seller 

(b) buyer upon the acceptor 

(c) seller upon the buyer 

(d) seller upon the acceptor 

12. {ZåZ{b{IV _| go ~oMo JE _mb H$s bmJV _| {H$go gpå_{bV Zht  {H$`m OmVm ? 1 

(H$) Amapå^H$ ah{V`m 
(I) H«$` 
(J) {dH«$` 
(K) ApÝV_ ah{V`m 
Which of the following is not included in cost of goods sold ? 

(a) Opening stock 

(b) Purchases 

(c) Sales 

(d) Closing stock 

13. ApÝV_ ñQ>m°H$ H$mo 1 

(H$) ì`mnma ImVo _| S>o{~Q> {H$`m OmVm h¡ &   
(I) ì`mnma ImVo _| Ho«${S>Q>> {H$`m OmVm h¡ &   
(J) bm^-hm{Z ImVo _| S>o{~Q> {H$`m OmVm h¡ &  
(K) bm^-hm{Z ImVo _| Ho«${S>Q>> {H$`m OmVm h¡ &  
             AWdm 
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 ì`mnma ImVm ___________ H$s JUZm H$aZo Ho$ {bE V¡`ma {H$`m OmVm h¡ & 1 

(H$) ewÕ bm^ 
(I) ewÕ hm{Z 
(J) n±yOr ImVo H$m eof 
(K) gH$b bm^ AWdm gH$b hm{Z 
Closing stock is 

(a) debited to trading account. 

(b) credited to trading account. 

(c) debited to profit and loss account. 

(d) credited to profit and loss account. 

                                  OR 

Trading account is prepared to ascertain 

(a) Net profit 

(b) Net loss 

(c) Balance of the capital account 

(d) Gross profit or gross loss 

14. {ZåZ{b{IV _| go ImVm| Ho$ AYyam hmoZo H$m H$m¡Z-gm H$maU Zht  hmo gH$Vm ? 1 

(H$) Xmohar à{d{ï> àUmbr H$m Cn`moJ H$aZm 
(I) Xmohar à{d{ï> àUmbr H$m Cn`moJ Z H$aZm 
(J) AmJ Ûmam ImVm| H$m ZîQ> hmoZm 
(K) boZXoZ H$s à{d{ï> Ho$ g_` Ho$db S>o{~Q> AWdm Ho«o${S>Q> nj H$m Cn`moJ H$aZm 
Which of the following cannot be a cause of rendering the accounts 

incomplete ? 

(a) Following double entry system 

(b) Not following double entry system 

(c) Destruction of the records by fire 

(d) Using only debit or credit aspect while recording the transaction 

15. ì`dgm` H$m {ddaU _________ H$s JUZm H$aZo Ho$ {bE V¡`ma {H$`m OmVm h¡ & 1 

(H$) EH$ Ad{Y _| A{O©V ewÕ bm^ 
(I) EH$ {deof {V{W na ì`dgm` H$s pñW{V 
(J) EH$ Ad{Y _| A{O©V gH$b bm^ 
(K) Cn`w©º$ g^r 
Statement of affairs is prepared to ascertain 

(a) net profit earned during a period 

(b) position of the business on a particular date  

(c) gross profit earned during a period 

(d) All of the above 
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16. O` Ho$ boZXma 1.1.2017 H$mo < 10,000 VWm 31.12.2017 H$mo < 20,000 Wo & df© _| 
CgZo boZXmam| H$mo < 1,00,000 H$m ^wJVmZ {H$`m & df© _| CgH$s CYma H«$` Wr  1 

(H$) < 1,10,000 
(I) < 1,00,000 

(J) < 90,000 
(K) < 1,20,000 

Jay’s creditors on 1.1.2017 were < 10,000 and on  31.12.2017, < 20,000. 

During the year he paid < 1,00,000 to the creditors. His credit purchases 

during the year were 

(a) < 1,10,000 

(b) < 1,00,000 

(c) < 90,000 

(d) < 1,20,000 

17. Am`JV ì`` H$m Š`m AW© h¡ ? 3 
What is meant by revenue expenditure ? 

18. 31 _mM©, 2017 H$mo g_má hþE df© _| Hw$_ma Zo {d{^Þ _Xm| na {ZåZ ì`` {H$E : 
   < 
 H«$` H$s JB© _erZar na ^m‹S>m 20,000 

 OmdH$ ^m‹S>m 2,000 

 {\$qQ>½g 5,000 

 H«$` 2,00,000 

 ZE CËnmXm| H$mo ewê$ H$aZo Ho$ {bE {dkmnZ 50,000 

 ~r_m àr{_`_ 4,000 

 Cn`w©º$ _| go ny±OrJV ì``, Am`JV ì`` VWm AñWJV Am`JV ì`` H$s _Xm| H$s nhMmZ 
H$s{OE & 3 

Kumar incurred the following expenditure on various items during the 

year ended 31st March, 2017 : 
   < 

 Carriage on machinery purchased 20,000 

 Carriage outwards 2,000 

 Fittings 5,000 

 Purchases 2,00,000 

 Advertisement on launching new products  50,000 

 Insurance premium 4,000 

Identify the items of capital expenditure, revenue expenditure and 

deferred revenue expenditure from the above. 
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19. ardm Zo < 75,000 H$s EH$ _erZ H$m H«$` {H$`m VWm CgHo$ ñWmnZ na < 15,000 ì``  
{H$E & _erZ H$m OrdZ 8 df© h¡ {OgHo$ níMmV² CgH$m H$~m‹S> ({ZñVmaU) _yë`  
< 10,000 hmoJm & _erZ na KQ>Vr _yë` {d{Y go 10% à{V df© H$s Xa go _yë`õmg bJmZm 
h¡ & àW_ VrZ dfmªo Ho$ {bE _yë`õmg H$s JUZm H$s{OE & 3 

Riva purchased a machinery for < 75,000 and paid < 15,000 for its 

installation. The machine has a life of eight years after which its scrap 

value will be < 10,000. Depreciation on the machine is to be charged  

@ 10% per annum on diminishing value method. Calculate the amount of 

depreciation for the first three years. 

20. Eogr H$moB© VrZ _X Xr{OE {OZH$m boIm nmg~wH$ _| {H$`m J`m hmo gH$Vm h¡ naÝVw amoH$‹S> 
nwñVH$ _| Zht & 3 

Give any three items that may be recorded in the passbook but not in the 

cash book. 

21. {d{Z_`-nÌ H$s {H$Ýht VrZ {deofVmAm| H$m C„oI H$s{OE & 3 

        AWdm 
 {d{Z_`-nÌ H$s n[a^mfm Xr{OE & 3 

State any three characteristics of a bill of exchange. 

           OR 

Define a bill of exchange. 

22. _m`em H$m ApÝV_ ñQ>m°H$ < 20,000 h¡ & dh ApÝV_ ImVo V¡`ma H$aZo H$s à{H«$`m _| h¡ & 
Cgo Bg _X H$s boIm§H$Z à{H«$`m g_PmBE Vm{H$ dh AnZo ApÝV_ ImVo ghr V¡`ma H$a  
gHo$ & 3 

AWdm 

 {dÎmr` {ddaUm| Ho$ _hÎd Ho$ {H$Ýht VrZ {~ÝXþAm| H$m C„oI H$s{OE & 3 
Maysha has a closing stock of < 20,000. She is in the process of preparing 

her final accounts. Explain to her the accounting treatment of this item 

so that she can prepare her final accounts correctly. 

OR 

State any three points of importance of financial statements. 

23. ~¢H$ g_mYmZ {ddaU H$m Š`m AW© h¡ ? Eogr {H$Ýht Xmo _Xm| Ho$ CXmhaU Xr{OE {OZH$m boIm 
amoH$‹S> nwñVH$ _| {H$`m J`m hmo naÝVw nmg~wH$ _| Zht & 4 

What is meant by bank reconciliation statement ? Give examples of any 

two items that may be recorded in the cash book but not in the passbook. 
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24. 1.4.2018 H$mo Kmof Zo CÎm_ H$mo < 70,000 Ho$ _mb H$m {dH«$` {H$`m VWm CgHo$ {bE 
CÎm_ na Xmo _mh níMmV² Xo` EH$ {d{Z_`-nÌ {bIm & CÎm_ Zo {d{Z_`-nÌ H$mo ñdrH$ma H$a  
{b`m & 

 Cn ẁ©º$ Ho$ {bE {d{Z_`-nÌ V¡`ma H$s{OE & 4 

AWdm 

1.6.2018 H$mo JrVm Zo grVm H$mo < 1,00,000 Ho$ _mb H$m CYma {dH«$` {H$`m & JrVm Zo 
grVm na CVZr hr am{e H$m VrZ _mh níMmV² Xo` EH$ {d{Z_`-nÌ {bIm Omo _rVm H$mo Xo` 
Wm &  ZrVm Zo {~b H$mo grVm H$s Amoa go ñdrH$ma H$a {b`m & 
Cn ẁ©º$ _| go {bIZo dmbm, {OgHo$ D$na {bIm J`m, àmáH$Vm© VWm ñdrH$maH$Vm© H$s nhMmZ 
H$s{OE & 4 

On 1.4.2018, Ghosh sold goods for < 70,000 to Uttam and drew a bill of 

exchange for the same upon Uttam payable after two months. Uttam 

accepted the bill. 

Prepare a bill of exchange for the above. 

OR 

On 1.6.2018, Geeta sold goods worth < 1,00,000 to Sita on credit. Geeta 

drew a bill of exchange upon Sita for the same amount payable after 

three months to Meeta. The bill was accepted by Neeta on behalf of Sita. 

Identify the drawer, drawee, payee, and acceptor from the above. 

25. 31.12.18 H$mo {H$emoa EÊS> g§g H$s gån{Îm`m± VWm Xo`VmAm| H$s pñW{V {ZåZ àH$ma h¡ : 
 amoH$‹S < 10,000;> n±yOr < 1,65,000; ~¢H$ < 50,000; boZXma < 1,50,000;  

10% XrKm©d{Y G$U < 50,000; \$ZuMa < 1,50,000 VWm XoZXma < 1,55,000.  
 Cn ẁ©º$ {V{W H$mo {H$emoa EÊS> g§g H$m pñW{V {ddaÊm V¡̀ ma H$s{OE & 4 

AWdm 
 {dÎmr` {ddaUm| H$m Š`m AW© h¡ ? BZ {ddaUm| H$mo V¡`ma H$aZo Ho$ CÔoí`m| H$m C„oI H$s{OE & 4 

Following is the position of assets and liabilities of Kishore and Sons as 

on 31.12.18. 

Cash < 10,000; Capital < 1,65,000; Bank < 50,000; Creditors  

< 1,50,000; 10% long-term loan < 50,000; Furniture < 1,50,000 and  

Debtors < 1,55,000. 

Prepare a Balance Sheet of Kishore and Sons on the above date. 

OR 

What is meant by financial statements ? State the objectives of preparing 

these statements. 
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26. ImVm| H$s AnyU©Vm Ho$ {H$Ýht Mma H$maUm| H$m C„oI H$s{OE & 4 

            AWdm 
 AnyU© ImVm| H$s H$moB© Mma gr_mE± ~VmBE & 4 

State any four reasons of incompleteness of records.  

                    OR 

State any four limitations of incomplete records. 

27. ñWm`r gån{Îm`m| na _yë`õmg bJmZo H$s Amdí`H$Vm H$mo g_PmBE & 5 

AWdm 
 1.1.2015 H$mo _mohZ Zo < 2,00,000 H$s EH$ _erZ H$m H«$` {H$`m & CgZo BgHo$ ñWmnZ 

na < 20,000 ì`` {H$E & BgHo$ Cn`moJr OrdZ Ho$ níMmV² _erZ H$m H$~m‹S> ({ZñVmaU) 
_yë` < 10,000 hmoJm & _erZ na grYr aoIm {d{Y go 10% à{V df© H$s Xa go _yë`õmg 
bJmZm h¡ & _erZ na dm{f©H$ _yë`õmg H$s JUZm H$s{OE VWm VrZ dfmªo Ho$ {bE _erZar 
ImVm V¡`ma H$s{OE & 5 
Explain the need for providing depreciation on fixed assets. 

OR 

Mohan purchased a machine on 1.1.2015 for < 2,00,000. He paid 
< 20,000 on its installation. The scrap value of the machine after its 
useful life will be < 10,000. Depreciation on the machinery is charged  
@ 10% per annumn according to straight line method. Calculate the 
annual amount of depreciation on the machine and prepare machinery 
account for three years. 

28. 31.1.2019 H$mo ZdrZ Ho$ {ZåZ {ddaUm| go ~¢H$ g_mYmZ {ddaU V¡`ma H$s{OE : 5 
   < 
amoH$‹S> ~hr H$m eof  58,000 
M¡H$ {ZJ©{_V {H$E JE naÝVw  

^wJVmZ Ho$ {bE àñVwV Zht {H$E JE  16,000 
M¡H$ O_m {H$E JE naÝVw A^r  

 VH$ EH${ÌV Zht {H$E JE 5,400 
 AmH$pñ_H$ ì`` ZdrZ Ho$ ImVo _|$  

S>o{~Q> {H$E JE naÝVw BZH$m boIm 
amoH$‹S> ~hr _| Zht {H$`m J`m 100 

From the following particulars of Naveen, prepare a bank reconciliation 

statement as on 31.1.2019. 
   < 
Balance as per cash book 58,000 
Cheques issued but not presented for payment 16,000 

Cheques deposited but not yet collected 5,400 

Incidental charges debited to Naveen but not  

recorded in cash book 100 
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29. h[aAmo_ H$s nwñVH$m| go àmá {ZåZ eofm| go 31.12.2018 H$mo g_má hþE df© Ho$ {bE ì`mnma 
VWm bm^-hm{Z ImVm V¡`ma H$s{OE & 

 Amapå^H$ ñQ>m°H$ < 6,000;> H«$` < 24,000; {dH«$` < 40,000; _OXÿar < 2,500; 

doVZ < 3,500; {dkmnZ < 2,200; {H$am`m < 1,200; ~Å>m {X`m < 1,700;> 
_aå_V < 1,200. 

 31.12.2018 H$mo ApÝV_ ñQ>m°H$ < 4,500 Wm & 5 

From the following balances obtained from the books of Hariom, prepare 

Trading and Profit and Loss Account for the year ended 31.12.2018. 

Opening stock < 6,000; Purchases < 24,000; Sales < 40,000;  

Wages < 2,500; Salaries < 3,500; Advertisement < 2,200; Rent < 1,200; 

Discount allowed < 1,700; Repairs < 1,200. 

Closing stock on 31.12.2018 was < 4,500. 

30. 1.4.2017 H$mo  e§H$a Zo < 5,00,000 ny±Or go EH$ ì`dgm` Amaå^ {H$`m & df© _| CgZo 
< 1,50,000 H$s ny±Or H$m A{V[aº$ {Zdoe {H$`m & CgZo ñd`§ Ho$ Cn`moJ Ho$ {bE 
< 1,00,000 H$m AmhaU {H$`m & 31.3.2018 H$mo CgH$s gån{Îm`m± VWm Xo`VmE± {ZåZ 
àH$ma Wt : 

 boZXma < 9,00,000;> XoZXma < 12,56,000; ñQ>m°H$ < 2,47,500 VWm ~¢H$ _| amoH$‹S>  
< 2,49,800. 

e§H$a Zo AnZo boZXoZm| H$m boIm, Xmohar à{d{îQ> àUmbr Ho$ AmYma na Zht {H$`m Wm &  
 ì`dgm` H$m {ddaU VWm bm^-hm{Z {ddaU V¡`ma H$aHo$ 31.3.2018 H$mo g_má hþE df© Ho$ 

{bE e§H$a Ho$ bm^ H$s JUZm H$s{OE & 5 

On 1.4.2017, Shankar started business with capital of < 5,00,000. During 

the year he introduced further capital of < 1,50,000. He withdrew 

< 1,00,000 for personal use. On 31.3.2018 he had the following assets and 

liabilities : Creditors  < 9,00,000; Debtors < 12,56,000; Stock < 2,47,500 

and Cash at bank < 2,49,800. 

Shankar did not record his transactions according to double entry 

system. 

Calculate Shankar’s profit for the year ended 31.3.2018 by preparing 

Statement of Affairs and Statement of Profit or Loss. 

 


